ELE BRI

1. 3EEAH

BlF

9ac +12ab = 3a(3c+4b)

3| 9ac+12ab

a| 3ac+4ab

3c+4b
2. FEAR
a’ —b%= (a+b)(a-b)
Bl
9-x2 = (3+x)(3-x)
3.8 F A AR
a’+2ab+b? =(a+b)?
aZ-2ab +b?= (a-b)?
7
X2-Ax+4 = (x+2)(x-2)
A’+b%+c’+2ab+2bc+2ca = (a+b+c)?
3L EAN
X3+3x2y+3xy2+y? = (x+y)?
x3-3x%y +3xy? —y3 = (x-y)?
BlF x3+6x2y=3xy?+8y? = (x+2y)>
X3 =y =(x-y) (x*+y*+xy)
XY= (xHy) (X +y>-xy)

BlF

The Classroom Learning Academy

8x3-y3
= (2x-y)(2x*+y*+2(2x)(y))

=(2x-y)(4x*+y*+2xy)

3T X HE TR

%511 5x% +13x -6

5x>< -2 -2X

1x 3 15x

5x> -6 13x

(5x-2)(x+3)

430 51
ax+ay+bx+by
=a(x+y)+b(x+y)

=(a+b)(x+y)

HCF/LCM

BlF

x%,2x,x3 ] HCF

X | X%, 2x, X3

X, 2, X*

HCF=x



>

1 m*-3m? 2 22 +2-15
3 8x*-4zx 4 6xy+10z’y
5 h'+8h+15 6 z’-9
7 Pl 8 1291°-1291x1281
(1+2p) -(p+2)
9 ab+bc-de-da 10 998" -4 =
11 21 p’ 12 21’ +4
a+b:2,ab+a ;—b = T
13 J 62.5’-58.5" 14 _a a8
a’-16 16-a°
15 3(4p'+9)2p+3) 16 32°-57-12
21(16p*-81)
17 22°+6 18 4z°-1
19 az_b2 20 x’-1
a+b=la=m+ 5 ;m="7
21 10zy-252°-y*= 22 az—a—ab+b_
(a-b)1-a) —
23 -y +6zx-6y= 24 a+2b  a-2b , ,
= 2 Y= D) Y=Y =
2 4
23 m?5+x—?—5:m2?25’m:? 26 a’+b :27ab:3a(a+b) -
27 y2+y-6; y+3 _ 28 a*-ab-ac+be
y+1 "2y +y-1 2a*-ab-b’
29 (3a+2)'-3(3a+2)(a-2)= 30 6z Z+5y
z-y~ z-Yy —
31 (43) -(z+3) = 32 (4ab’)(4cd’)
2h’
33 r 3 9 34 6ab . 3a
z-2 z+1" x*-z-2 5¢ * 10c’
35 a’-9 ><0,2-3a_ 36 3z+1 2241
a*-6a-+9 a’ 3z-1" =z-1 =0
37 ab2—a2b 38 T n 4 2
“ah z-27 -3~ (3-z)(z-2)
39 z-1 2 40 2 1 7

T
25246 2-2 -3

32-1 17 2-1 37-dz11-0
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i iy 12

1 (3z+2y) -6z-4y= 2 z’-1+y(z+1)=

3 122°+22-30z-5= 4 az-bz+a*-b =

5 4zy+6-z-24y= 6 (a+3b)(2a-b)-(a+3b) =

7 122°u+ 3z’ v+ 28yu+ Tyv= 8 (a-b)(a+2b)-2a+2=

9 42mc+36md-Tn’c-6n’d= 10 ab+bc-da-dc=

11 56zw+49zk -24yw-21yk = 12 6p(3z+2y)-(3p+2q)(3z+2y)=

13 247°-647-217 456 = 14 a>-b +a+b=

15 z(z-1)-z+1= 16 z’-y*+6z-6y=

17 a’-ab+5a-5b= 18 25a>-4b +5a-+2b=

19 ac-be-a*42ab-b = 20 4g+4p-¢'-pg=
LCM/HCF

1 ’+3z-4,2-4x+3 2 (z-1),2°-2z+1,2x

3 P-,2(p+49),3(P-9) 4 1 @40 +2ab(a+b) ,0(a+b)-b'(a+D)

5 21a*b,9abc 6 Ty, 'y’

7 a*-ab-2b",a*+3ab+2b" 8 r’+9z-10,2>-14x+48

9 | z2°-2z-15,2°-9z+18,2*-7z2-30 | 10 2z+y),3(z+y) 4z +y)
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